
 ∆

D

=

9

2

m

m

,
 
L

k

=

9

2

,
2

8

3

m

,
 
m

=

0

,
5

4

2

m

,
 
L

i
=

4

6

2

,
5

6

5

m

V

=

1

0

0

k

m

/
h

,
 
I
=

8

8

m

m

,
 
n

=

1

0

V

V

1

3

0

=

1

0

5

k

m

/
h

,
 
I
1

3

0

=

1

0

7

m

m

,
 
n

1

3

0

=

9

,
6

V

1

3

0

V

1

5

0

=

1

1

0

k

m

/
h

,
 
I
1

5

0

=

1

2

6

m

m

,
 
n

1

5

0

=

9

,
1

V

1

5

0

V

k

=

1

3

0

k

m

/
h

,
 
I
k

=

2

1

3

m

m

,
 
n

k

=

7

,
7

V

k

R

1

=

6

5

0

m

D

=

9

2

m

m

,
 
L

k

=

9

2

m

,
 
m

=

0

,
5

4

2

m

,
 
L

i
=

4

5

9

,
4

5

4

m

V

=

1

0

0

k

m

/
h

,
 
I
=

9

0

m

m

,
 
n

=

1

0

V

V

1

3

0

=

1

0

5

k

m

/
h

,
 
I
1

3

0

=

1

0

8

m

m

,
 
n

1

3

0

=

9

.
5

V

1

3

0

V

1

5

0

=

1

1

0

k

m

/
h

,
 
I
1

5

0

=

1

2

8

m

m

,
 
n

1

5

0

=

9

,
1

V

1

5

0

V

k

=

1

3

0

k

m

/
h

,
 
I
k

=

2

1

5

m

m

,
 
n

k

=

7

.
7

V

k

R

1

=

5

2

8

m

D

=

1

2

9

m

m

,
 
L

k

=

1

0

9

,
9

1

4

m

,
 
m

=

0

,
9

5

3

m

,
 
L

i
=

2

1

3

,
4

7

m

V

=

1

0

0

k

m

/
h

,
 
I
=

9

4

m

m

,
 
n

=

8

.
5

V

V

1

3

0

=

1

0

5

k

m

/
h

,
 
I
1

3

0

=

1

1

7

m

m

,
 
n

1

3

0

=

8

.
1

V

1

3

0

V

1

5

0

=

1

1

0

k

m

/
h

,
 
I
1

5

0

=

1

4

1

m

m

,
 
n

1

5

0

=

7

.
7

V

1

5

0

V

k

=

1

3

0

k

m

/
h

,
 
I
k

=

2

4

9

m

m

,
 
n

k

=

6

.
6

V

k

R

0

=

5

2

4

m

D

=

1

2

9

m

m

,
 
L

k

=

1

0

9

,
4

9

7

m

,
 
m

=

0

,
9

5

3

m

,
 
L

i
=

2

1

1

,
4

3

7

m

V

=

1

0

0

k

m

/
h

,
 
I
=

9

6

m

m

,
 
n

=

8

,
5

V

V

1

3

0

=

1

0

5

k

m

/
h

,
 
I
1

3

0

=

1

1

9

m

m

,
 
n

1

3

0

=

8

,
1

V

1

3

0

V

1

5

0

=

1

1

0

k

m

/
h

,
 
I
1

5

0

=

1

4

3

m

m

,
 
n

1

5

0

=

7

,
7

V

1

5

0

V

k

=

1

3

0

k

m

/
h

,
 
I
k

=

2

5

2

m

m

,
 
n

k

=

6

,
5

V

k

D

=

3

5

m

m

,
 
L

k

=

3

3

,
1

m

,
 
m

=

0

,
0

2

3

m

,
 
L

i
=

1

2

8

,
6

0

4

m

V

=

1

0

0

k

m

/
h

,
 
I
=

2

4

m

m

,
 
n

=

9

,
5

V

V

1

3

0

=

1

0

5

k

m

/
h

,
 
I
1

3

0

=

3

0

m

m

,
 
n

1

3

0

=

9

V

1

3

0

V

1

5

0

=

1

1

0

k

m

/
h

,
 
I
1

5

0

=

3

6

m

m

,
 
n

1

5

0

=

8

,
6

V

1

5

0

V

k

=

1

3

0

k

m

/
h

,
 
I
k

=

6

5

m

m

,
 
n

k

=

7

,
3

V

k

R
0
=

5
8
8
,7

5
m

D
=

1
0
3
m

m

, 
L
k
=

8
7
,3

5
3
m

, 
m

=
0
,5

4
m

, 
L
i=

5
2
,9

5
3
m

V
=

1
0
0
k
m

/h
, 
I=

9
7
m

m

, 
n
=

8
,5

V

V
1
3
0
=

1
0
5
k
m

/h
, 
I1

3
0
=

1
1
8
m

m

, 
n
1
3
0
=

8
,1

V
1
3
0

V
1
5
0
=

1
1
0
k
m

/h
, 
I1

5
0
=

1
4
0
m

m

, 
n
1
5
0
=

7
,7

V
1
5
0

V
k
=

1
3
0
k
m

/h
, 
Ik

=
2
3
6
m

m

, 
n
k
=

6
,5

V
k

R

0

=

6

5

4

m

R1=6004,75m

D=0mm, Lk=0m, Li=46,182m

V=100km/h, I=20mm,

V130=105km/h, I130=22mm,

V150=105km/h, I150=22mm,

Vk=120km/h, Ik=28mm,

R0=6000m

D=0mm, Lk=0m, Li=46,145m

V=100km/h, I=20mm,

V130=105km/h, I130=22mm,

V150=110km/h, I150=24mm,

Vk=120km/h, Ik=28mm,

R
1
=

5
8
2
m

D
=

1
0
3
m

m

, 
L
k
1
=

8
2
m

, 
m

1
=

0
,4

8
1
m

, 
L
k
2
=

8
7
m

, 
m

2
=

0
,5

4
2
m

, 
L
i=

5
4
,1

9
7
m

V
=

1
0
0
k
m

/h
, 
I=

1
0
0
m

m

, 
n
1
=

8
,0

V
, 
V

, 
n
2
=

8
,4

V

V
1
3
0
=

1
0
5
k
m

/h
, 
I1

3
0
=

1
2
1
m

m

, 
n
1
1
3
0
=

7
,6

V
1
3
0
, 
n
2
1
3
0
=

8
,0

4
V

1
3
0

V
1
5
0
=

1
0
5
k
m

/h
, 
I1

5
0
=

1
2
1
m

m

, 
n
1
1
5
0
=

7
,6

V
1
5
0
, 
n
2
1
5
0
=

8
,0

4
V

1
5
0

V
k
=

1
3
0
k
m

/h
, 
Ik

=
2
4
0
m

m

, 
n
1
k
=

6
,1

V
k
, 
n
2
k
=

6
,5

V
k

R

3

0

1

=

5

0

0

m

D

=

6

4

m

m

,
 
L

k

1

=

4

1

m

,
 
m

1

=

0

.
1

4

m

,
 
L

k

2

=

6

0

.
0

1

m

,
 
m

2

=

0

.
3

m

,
 
L

i
=

1

4

8

.
8

6

4

m

V

=

8

0

k

m

/
h

,
 
I
=

8

7

m

m

,
 
n

1

=

8

V

,
 
V

,
 
n

2

=

1

1

.
7

V

V

1

3

0

=

8

5

k

m

/
h

,
 
I
1

3

0

=

1

0

7

m

m

,
 
n

1

1

3

0

=

7

.
5

V

1

3

0

,
 
n

2

1

3

0

=

1

1

V

1

3

0

V

1

5

0

=

8

5

k

m

/
h

,
 
I
1

5

0

=

1

0

7

m

m

,
 
n

1

1

5

0

=

7

.
5

V

1

5

0

,
 
n

2

1

5

0

=

1

1

V

1

5

0

V

k

=

9

0

k

m

/
h

,
 
I
k

=

1

2

7

m

m

,
 
n

1

k

=

7

.
1

V

k

,
 
n

2

k

=

1

0

.
4

V

k

R

3

0

2

=

5

0

0

m

D

=

6

4

m

m

,
 
L

k

=

4

1

m

,
 
m

=

0

,
1

4

m

,
 
L

i
=

1

5

8

,
3

7

m

V

=

8

0

k

m

/
h

,
 
I
=

8

7

m

m

,
 
n

=

8

V

V

1

3

0

=

8

5

k

m

/
h

,
 
I
1

3

0

=

1

0

7

m

m

,
 
n

1

3

0

=

7

,
5

V

1

3

0

V

1

5

0

=

8

5

k

m

/
h

,
 
I
1

5

0

=

1

0

7

m

m

,
 
n

1

5

0

=

7

,
5

V

1

5

0

V

k

=

9

0

k

m

/
h

,
 
I
k

=

1

2

7

m

m

,
 
n

k

=

7

,
1

V

k

R

=

5

0

0

m

D

=

6

4

m

m

,
 
L

k

=

4

1

m

,
 
m

=

0

,
1

4

m

,
 
L

i
=

1

5

8

,
3

7

m

V

=

8

0

k

m

/
h

,
 
I
=

8

7

m

m

,
 
n

=

8

V

V

1

3

0

=

8

0

k

m

/
h

,
 
I
1

3

0

=

8

7

m

m

,
 
n

1

3

0

=

8

V

1

3

0

V

1

5

0

=

8

0

k

m

/
h

,
 
I
1

5

0

=

8

7

m

m

,
 
n

1

5

0

=

8

V

1

5

0

V

k

=

8

0

k

m

/
h

,
 
I
k

=

8

7

m

m

,
 
n

k

=

8

V

k

nástupiště č. 1 dl. 300m

nástupiště č. 2 dl. 300m

nástupiště č. 3 dl. 200m

Z
A

Č
Á

T
E

K
 
N

Á
S

T
U

P
I
Š

T
Ě

k
m

 
6
,
7
1
5
 
3
8
1

Z
A

Č
Á

T
E

K
 
N

Á
S

T
U

P
I
Š

T
Ě

k
m

 
6
,
6
6
5
 
3
7
3

K
O

N
E

C
 
N

Á
S

T
U

P
I
Š

T
Ě

k
m

 
6

,
4

1
5

 
3

7
3

K
O

N
E

C
 
N

Á
S

T
U

P
I
Š

T
Ě

k
m

 
6
,
4
6
5
 
4
4
3

E

l
e

k

t

r

i
c

k

é

 

d

ě

l
e

n

í

E
le

k
tr

ic
k
é
 d

ě
le

n
í

901788

901529

907173

901118

901116

901191901192901193901194
901195

901198

901199

901113

901123
901188

901189
901183

901782
919714

919715

901180

901781

901114

901117

907268

901167 901165

901179

919198

919201

901177 901176 901174
901173

901810

901809

901178

901125

901797

901793

901803

918170

901794

918028

918033

919718
919722

919723

918035

918032 918029
919727

901808

919725

919731919733

919734

919737

919738
919728

915258

918341

918334

918337

918338

918340

904268

919730 901787

919742
919743

919720

901182

901115

901196

919736

901796
919719

901190 919193

919905

901175

919717

901168

901185

921523

921521

918333

901187

901518

901783

919726

921175
921176

921177

921180

907269

919735

901785

921520

918031

918022

901186

901789

921179

921163

921161

921156

921160

921527

921529921530

921518

919199

921147921145921143921141
921139

921138

921524

921526

921140
921144

921146
921148

921150

921152

918030

918332

919200 901784

921159
921153921151

919721
919729

919739

921155
921157

918355

901795

918021

918335

918342

919732

901517

921522

921528

921154

918343

918357

922496 922497

922498

921525

901109

901112

918336

918339

918352

918034

901166

901172

901181901184

901197

901786

901813

907230

921519

919716

919724

919740

919904

921142

921149

921158

921178

925187

925213

925214

925215

918353 918354

919741918356

290351

680020

SKR 220414

TS 211876

SKR 230310

SKR 230423

SKR 230426

SKR 230429

SKR 230427

SKR 230424

SKR 230428

ZM 0878


